

Soustraction de Nombres Entiers (I)

Utilisez la stratégie d'un nombre entier pour trouver chaque question.

$37 - (-43) =$

$93 - (-10) =$

$49 - (-53) =$

$(-32) - (-49) =$

$(-86) - (-7) =$

$33 - (-4) =$

$(-45) - 24 =$

$46 - 29 =$

$(-53) - (-19) =$

$(-76) - (-7) =$

$95 - 68 =$

$(-21) - 74 =$

$62 - 94 =$

$17 - 58 =$

$97 - 63 =$

$4 - 32 =$

$(-73) - 89 =$

$98 - 75 =$

$(-65) - 57 =$

$(-79) - 56 =$

$47 - 58 =$

$(-84) - 18 =$

$96 - 31 =$

$(-27) - 78 =$

$(-9) - (-22) =$

$(-14) - (-50) =$

$(-32) - (-58) =$

$(-86) - 63 =$

$(-7) - 28 =$

$(-67) - 7 =$